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ECRITURE SCIENTIFIQUE - http://www. toupty.

com Classe de 4°¢

Exercice 1

Compléter par le nombre qui convient :

1. 70,23 =7,023X .......... >3.
»2. 7,005 ......... = 70050 >4

Exercice 2

Compléter par le nombre qui convient :

»1. 90980000 = 9,098x ..... ‘ >3.

»2. 0,003092 = 3,002x ......

Exercice 3

Compléter par le nombre qui convient :

Exercice 4

Compléter par le nombre qui convient :

1. 80,1 =8,01X .cevvvv.... »3.
>4.

»2. 9,028x .... = 902800000

Exercice 5

Compléter par le nombre qui convient :

1. 405% ......... = 405000 »3.
»2. 3.805X ........ =0,3805 »4.
Exercice 6

Compléter par le nombre qui convient :

»1. 0,0002015 =2,015x..... »3.
2. 7T9=T9X ...t >4
Exercice 7

Compléter par le nombre qui convient :

»2. 0,00002014 = 2,014x. ...

»1. 6,063% ..... = 60630000 ‘ >3.

»>4.

. 1,808x%..... = 0,0001808
. 50710000 = 5,071x .....

0,000 007 204 = 7,204 ..

. 6,03x........ = 6030000

3,106x .... = 310600000
20150000 = 2,015x% .....
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510500000 = 5,105 ....
0,03006 = 3,006 .......

2,707TX ... .. =0,02707
0,00006023 = 6,023x . . ..

340,6 = 3,406X ..........
0,00006501 = 6,501 . . ..

0,000007 708 = 7,708 % ..
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